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IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # | <M
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | i (& lwel w | & | & | % | % | a6
v Ak 10,000 2,456 2,193 677 343 389 420 1,444 355 1,159 565 9,614
SRR 19 4 100.6 98.0 99.4 96.3 108.6 101.7 102.5 103.2 107.7 103.8 98.8 100.6
20 102.1  100.7 99.7 102.2 106.5 103.7 101.8 105.2 109.1 104.0 99.0 102.2
21 100.5  100.3 99.5 99.5 104.0 101.0 100.9 99.5 111.0 101.3 98.8  100.8
22 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
23 99.4 99.2 98.4 103.4 97.5 100.4 99.3 101.2 97.6 95.8 104.4 99.5

8
Rk 23 1 99.6 99.7 99.2  100.7 99.2 95.7 99.6  100.4 97.9 97.6 104.6 99.4
2 99.5 100.0 99.0 100.8 98.4 95.4 99.6  100.4 97.9 96.9 104.6 99.3
3 99.6 99.6 99.0 101.3 98.7 98.8 99.0 101.7 97.9 95.8  104.5 99.5
4 99.6 99.6 98.7 99.6 99.8  100.8 99.0 102.4 97.5 95.7 104.3 99.6
5 99.4 98.8 98.4 101.9 98.3  100.1 99.8 102.2 97.5 95.5 104.3 99.5
5 6 99.3 98.8 98.3  103.3 97.9  100.6 99.7 100.8 97.5 96.2  104.3 99.5
H 7 99.4 98.6 98.1 104.1 98.0  100.0 99.0 101.6 97.5 96.7 104.4 99.6
8 99.7 99.3 98.0 104.9 96.6 98.5 98.8  102.2 97.5 97.8 104.3 99.7
9 99.6 99.5 98.1 105.4 96.1 104.0 99.4 101.0 97.5 95.9 104.3 99.7
10 99.5 99.7 98.0 105.9 96.3 103.6 99.1 100.5 97.5 95.2 104.2 99.5
11 99.0 98.3 98.1 106.4 95.6 103.8 99.2  100.6 97.5 93.3  104.3 99.2
12 99.2 98.9 98.0 106.6 95.6 104.0 99.0  100.7 97.5 93.5 104.4 99.3
SRR 20 Y 1.5 2.8 0.3 6.2 2.0 2.0 -0.7 2.0 1.3 0.1 0.2 1.6
% 21 -1.5 -0.4 -0.2 -2.7 2.3 2.6 -0.9 5.4 1.8 2.6 -0.2 -1.4
22 -0.5 -0.3 0.5 0.5 -3.9 -1.0 -0.8 0.5 -9.9 -1.2 1.2 -0.8
Al 23 -0.6 -0.8 -1.6 3.4 2.5 0.4 -0.7 1.2 -2.4 4.2 4.4 -0.5
& Rk 23 1 -0.2 0.1 -0.4 0.1 0.0 -4.8 0.2 0.6 0.0 -0.3 0.1 -0.3
2 -0.1 0.3 -0.2 0.1 -0.7 -0.3 -0.1 0.0 0.0 -0.8 0.0 -0.1
A 3 0.1 -0.4 -0.1 0.5 0.3 3.6 -0.6 1.2 0.0 -1.1 -0.1 0.2
4 0.0 0.0 -0.2 -1.7 1.1 2.1 0.0 0.8 -0.5 -0.1 -0.3 0.2
= 5 -0.2 -0.8 -0.3 2.3 -1.5 -0.7 0.8 -0.2 0.0 -0.2 0.0 -0.1
- 6 0.0 0.0 -0.1 1.4 -0.3 0.5 0.0 -1.3 0.0 0.8 0.0 0.0
7+ 7 0.1 -0.2 -0.3 0.8 0.1 -0.6 -0.7 0.8 0.0 0.5 0.1 0.1
4y 8 0.3 0.8 -0.1 0.7 -1.5 -1.6 -0.2 0.6 0.0 1.2 -0.1 0.1
9 -0.1 0.2 0.1 0.5 -0.5 5.6 0.6 -1.2 0.0 2.0 0.0 0.0
% 10 -0.1 0.2 -0.1 0.4 0.2 -0.4 -0.4 -0.5 0.0 -0.7 -0.1 -0.2
11 -0.5 -1.4 0.1 0.5 -0.7 0.2 0.2 0.1 0.0 2.0 0.1 -0.2
12 0.2 0.6 0.0 0.2 0.0 0.1 -0.2 0.2 0.0 0.2 0.0 0.1
X Rk 23 41 -0.3 0.1 -0.6 2.3 2.1 2.5 -0.9 0.5 -7.8 -2.6 6.2 -0.6
i 2 -0.4 0.1 -0.6 1.7 2.6 -3.3 -0.4 0.4 -7.8 -3.0 6.6 -0.7
i 3 -0.4 -0.3 -1.0 1.9 2.6 -0.3 -1.0 1.5 -7.8 -3.0 6.2 -0.5
_ 4 -0.6 -0.7 -1.4 0.5 -2.0 2.1 -1.3 2.2 -0.5 5.4 6.0 -0.5
7] 5 -1.1 -1.6 2.1 2.2 -2.9 2.2 -0.6 1.0 -0.5 -5.1 5.9 -0.8
H 6 -0.8 -1.1 -2.0 3.4 2.3 -0.9 -0.7 0.3 -0.5 -4.7 5.7 -0.7
T+ 7 -0.2 -0.7 2.2 3.8 -0.9 1.8 -0.9 1.8 -0.5 -3.2 5.9 -0.2
- 8 -0.2 -0.5 2.1 4.0 2.3 0.8 -0.9 1.9 -0.5 -3.2 5.8 -0.2
7 9 -0.3 -0.9 -2.0 4.4 -2.7 3.3 -0.4 1.4 -0.5 -4.3 5.7 -0.1
R 10 -0.7 -1.1 -1.9 5.0 -2.4 3.6 -0.8 1.2 -0.5 -4.8 -0.1 -0.6
11 -1.0 -1.8 -1.7 5.7 -3.1 3.6 -0.5 1.4 -0.5 -6.0 -0.2 -0.6
% 12 -0.5 -0.7 -1.6 6.1 -3.6 3.4 -0.4 0.9 -0.5 4.6 -0.1 -0.4
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SRR 2 24E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel % | &6 | & | % | % | a6
v Ak 10,000 2,395 1,959 684 374 429 401 1,507 416 1,194 641 9,635
SRR 19 4 99.6 97.9 94.3 96.8 107.9 101.0 100.7 103.6 110.0 104.2 98.5 99.5
20 101.3  100.8 94.4 103.4 106.8 103.4 100.2 105.7 111.1 104.6 99.0 101.1
21 99.7  100.1 95.5 99.7 104.0 100.9 100.3 99.4 113.1 101.2 98.9 99.8
22 100.0  100.0  100.0 100.0 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0
23 100.1 99.8 100.7 103.4 97.4 101.8 98.9 101.2 96.6 95.7 104.3  100.1

8
Rk 23 01 100.0  100.6  100.9 100.8 97.2 96.0 99.8  100.4 96.7 97.3 104.6 99.9
2 99.9 100.9 100.9 100.7 96.1 95.9 99.7 100.4 96.7 96.6  104.5 99.7
3 100.1  100.1  100.8 101.0 98.8 101.0 99.1 101.5 96.7 95.6 104.3  100.0
4 100.3  100.4 100.9 100.6 100.7 102.3 98.5 102.6 96.6 95.5 104.0 100.4
5 100.1 99.9 100.6 101.3 98.2 101.4 99.5 102.3 96.6 95.3 104.1 100.2
5 6 100.0 99.7 100.6  103.1 98.0 101.8 99.0 100.8 96.6 96.0 104.0 100.1
H 7 100.0 98.6 100.6 104.0 98.7 101.1 98.5 101.5 96.6 96.7 104.4  100.3
8 100.3 99.4 100.6 104.8 96.5 99.2 97.9 102.3 96.6 98.1 104.4 100.3
9 100.3 99.9 99.0 105.2 96.1 106.3 99.0 100.9 96.6 96.1 104.3 100.1
10 99.9 99.3 100.4 105.8 96.7 105.1 98.8  100.2 96.6 95.1 104.1 100.1
11 99.7 98.9 100.6 106.3 96.1 105.6 98.9 100.5 96.6 92.8 104.3 99.9
12 100.0  100.1  100.5 106.6 95.7 106.1 98.3  100.8 96.6 93.1 104.2 100.1
SRR 20 Y 1.7 3.0 0.1 6.9 -1.0 2.4 -0.5 2.0 1.0 0.4 0.5 1.6
% 21 -1.6 -0.7 1.1 -3.6 2.6 -2.4 0.1 -6.0 1.8 -3.2 -0.1 -1.3
22 0.3 -0.1 4.7 0.3 -3.9 -0.9 -0.3 0.6 -11.5 -1.3 1.1 0.2
Al 23 0.1 -0.2 0.7 3.4 2.6 1.8 -1.1 1.2 -3.4 -4.3 4.3 0.1
& Rk 23 1 -0.1 0.1 -0.1 0.4 0.8 -6.0 0.4 0.9 0.0 -0.6 0.2 -0.1
2 -0.1 0.3 0.0 -0.1 -1.2 -0.1 -0.1 0.0 0.0 -0.7 0.0 -0.2
A 3 0.2 -0.8 -0.1 0.4 2.8 5.4 -0.5 1.1 0.0 -1.0 -0.3 0.3
4 0.2 0.3 0.1 -0.4 2.0 1.3 -0.7 1.1 -0.1 -0.1 -0.2 0.4
= 5 -0.2 -0.5 -0.3 0.6 2.5 -0.9 1.0 -0.3 0.0 -0.2 0.0 -0.2
- 6 -0.1 -0.2 0.0 1.8 -0.2 0.4 -0.5 -1.5 0.0 0.8 0.0 -0.1
7+ 7 0.0 -1.1 0.0 0.8 0.7 -0.7 -0.6 0.7 0.0 0.7 0.3 0.2
4y 8 0.3 0.9 0.0 0.8 2.2 -1.9 -0.6 0.7 0.0 1.5 0.1 0.0
9 -0.3 0.5 -1.6 0.4 -0.3 7.1 1.1 -1.4 0.0 2.1 -0.1 -0.2
% 10 -0.4 -0.6 1.4 0.6 0.5 -1.1 -0.1 -0.6 0.0 -1.0 -0.2 0.0
11 -0.2 -0.4 0.2 0.5 -0.6 0.4 0.0 0.3 0.0 -2.4 0.2 -0.2
12 0.3 1.2 -0.1 0.2 -0.4 0.5 -0.6 0.3 0.0 0.4 -0.1 0.2
X Rk 23 41 0.5 1.3 3.7 2.6 6.4 -0.9 -0.8 0.8 -12.0 -2.9 6.6 0.3
i 2 0.3 1.0 3.8 1.9 =5.7 -1.4 -0.4 0.3 -12.0 -3.3 6.7 0.0
i 3 0.7 1.1 3.5 1.7 -3.4 2.9 -0.9 1.4 -12.0 -3.3 5.6 0.4
_ 4 0.4 0.2 2.2 1.4 -1.8 -0.9 2.0 2.2 -0.1 -5.6 5.6 0.6
7] 5 -0.5 -0.6 -0.8 1.4 -3.1 -1.1 -1.0 0.8 -0.1 5.4 5.6 -0.3
H 6 -0.2 0.2 -0.7 3.2 -1.6 0.2 -1.7 0.0 -0.1 -4.7 5.5 -0.2
T+ 7 0.3 -0.8 -0.6 3.5 -0.3 3.4 -1.0 1.6 -0.1 -3.3 5.8 0.3
- 8 0.2 -0.8 -0.5 3.6 -2.4 2.2 -1.6 1.9 -0.1 -3.2 5.7 0.1
7 9 -0.1 -0.1 2.1 4.0 -2.4 4.4 -0.7 1.3 -0.1 —4.1 5.2 0.0
R 10 -0.6 2.0 -0.7 4.8 -1.2 4.0 -1.0 1.1 -0.1 -4.8 0.1 -0.1
11 -0.4 -1.4 -0.5 5.8 -1.7 5.0 -0.9 1.5 -0.1 6.3 -0.1 -0.1
% 12 -0.1 -0.4 -0.5 6.2 -0.9 4.0 -1.1 1.3 -0.1 -4.8 -0.1 0.1
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7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel % | & | & | % | % | a6
v Ak 10,000 2,465 2,292 645 344 409 438 1,349 308 1,208 542 9,597
SRR 19 4 100.6 96.9 99.1 98.5 112.1 103.1 103.7 103.0 110.1  104.0 99.1 100.5
20 102.4 99.8 100.7 103.5 111.9 1054 102.9 104.7 111.4 103.9 99.7 102.4
21 100.7  100.3  100.1 99.9 106.0 101.3 101.7 99.6 113.0 101.2 98.3 101.0
22 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
23 99.2 99.3 98.1 102.9 95.0 99.1 99.2  101.1 97.4 95.9 104.8 99.3

8
Rk 23 1 99.6 99.4 99.8  100.3 99.1 94.6 99.9 100.6 97.8 97.4 105.2 99.5
2 99.1 99.9 98.1 100.4 97.1 93.3 99.7  100.6 97.8 96.7 105.2 98.9
3 99.1 99.3 98.2  100.7 96.7 96.6 98.8  101.7 97.8 95.8 104.9 99.0
4 99.2 99.8 98.2 98.3 98.4 99.0 98.6 102.4 97.3 95.6 104.9 99.4
5 98.9 98.8 97.9 99.1 97.1 99.1 99.5 102.1 97.3 95.5 104.9 99.2
5 6 99.1 99.0 98.0 102.8 96.2 99.8 99.5 100.6 97.3 96.3 104.9 99.3
H 7 99.3 99.0 98.0  103.7 94.4 99.2 99.2  101.4 97.3 97.0 104.9 99.5
8 99.7 99.9 97.9 104.6 93.7 97.5 99.2  102.1 97.3 98.4 104.7 99.7
9 99.5 99.9 98.2  105.3 93.0 102.4 99.5 100.8 97.3 96.3 104.5 99.7
10 99.3 100.2 97.8  106.1 92.1 101.9 98.7 100.4 97.3 95.5 104.4 99.3
11 98.6 98.2 97.8 106.6 91.8 103.1 99.0  100.4 97.3 93.1 104.5 99.0
12 98.7 98.5 97.6 106.8 90.2  102.3 98.8  100.5 97.3 93.4  104.7 98.9
SRR 20 Y 1.8 3.1 1.5 5.1 -0.2 2.2 -0.8 1.7 1.2 -0.1 0.6 1.9
% 21 -1.6 0.4 -0.6 -3.4 5.2 -3.8 -1.1 -4.9 1.4 2.6 -1.4 -1.3
22 -0.7 -0.3 -0.1 0.1 =5.7 -1.3 -1.7 0.4 -11.5 -1.2 1.7 -1.0
Al 23 -0.8 -0.7 -1.9 2.9 -5.0 -0.9 -0.8 1.1 2.6 4.1 4.8 -0.7
& Rk 23 1 -0.1 0.2 0.0 -0.1 0.0 —4.6 -0.1 0.6 0.0 -0.4 0.1 -0.2
2 -0.5 0.5 -1.7 0.2 2.1 -1.4 -0.2 0.1 0.0 -0.7 0.0 -0.6
A 3 0.0 -0.6 0.1 0.3 -0.3 3.6 -1.0 1.0 0.0 -0.9 -0.2 0.1
4 0.1 0.5 0.0 2.3 1.7 2.4 -0.2 0.7 -0.6 -0.2 0.0 0.4
= 5 -0.3 -0.9 -0.3 0.8 -1.3 0.1 0.9 -0.3 0.0 -0.1 0.0 -0.2
- 6 0.2 0.2 0.1 3.8 -0.9 0.7 0.0 -1.5 0.0 0.8 0.1 0.1
7+ 7 0.2 0.0 0.0 0.8 -1.8 -0.6 -0.3 0.9 0.0 0.7 0.0 0.2
4y 8 0.4 0.9 -0.1 0.8 -0.7 -1.7 0.0 0.6 0.0 1.4 -0.1 0.2
9 -0.1 0.0 0.3 0.7 -0.8 5.0 0.3 -1.2 0.0 2.1 -0.3 0.0
% 10 -0.2 0.3 -0.4 0.8 -1.0 -0.5 -0.8 -0.4 0.0 -0.9 -0.1 -0.4
11 -0.7 2.1 0.0 0.5 -0.2 1.2 0.3 0.0 0.0 2.5 0.1 -0.3
12 0.1 0.4 -0.2 0.1 -1.7 -0.7 -0.2 0.1 0.0 0.3 0.2 -0.1
X Rk 23 41 -0.2 0.1 -0.4 2.0 -2.0 -3.0 -0.6 0.7 -8.2 -2.7 7.3 -0.5
i 2 -0.7 0.8 -2.0 1.2 —4.6 -5.2 -0.2 0.6 -8.2 -3.1 7.3 -1.1
i 3 -0.8 -0.8 -1.9 1.0 -1.6 -3.3 -1.2 1.6 -8.2 -3.0 7.1 -1.0
_ 4 -1.1 -1.0 -1.9 -0.6 -1.8 -4.8 -1.8 2.1 -0.6 -5.5 7.1 -0.8
7] 5 -1.5 -1.8 2.1 -0.5 -5.0 -3.3 -0.8 1.1 -0.6 -5.3 6.4 -1.1
H 6 -1.1 -1.3 -1.9 3.0 -4.9 2.2 -1.0 0.1 -0.6 4.6 6.1 -1.0
T+ 7 -0.2 0.1 2.1 3.4 -4.3 0.8 -0.5 1.7 -0.6 -3.0 6.3 -0.2
- 8 -0.3 -0.2 -2.0 3.5 —4.4 -0.4 -0.2 1.7 -0.6 -3.0 6.3 -0.3
7 9 -0.4 -0.4 -1.8 4.1 6.3 1.7 0.1 1.1 -0.6 -3.9 5.6 -0.2
R 10 -1.1 -0.9 2.2 5.0 =7.5 2.2 -1.2 1.1 -0.6 —4.4 0.0 -0.9
11 -1.4 2.0 2.0 6.1 -8.7 3.6 -1.0 1.2 -0.6 -6.0 -0.2 -0.8
% 12 -0.9 -0.7 2.2 6.4 -9.0 3.2 -1.3 0.6 -0.6 -4.5 -0.4 -0.8
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5 A B E | R (55 |AR| & | & | & | & | # |

Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
e e | e | Jw Iwol % | @ | u | % | # |66
v Ak 10,000 2,474 2,256 685 325 356 415 1,466 367 1,112 543 9,617
PRk 19 ) 100.9 98.9  100.7 97.8 105.8 102.9 1024 102.7 103.4 103.0 99.0 101.1
20 102.0 101.5 100.0 103.7 101.3 103.8 101.6 104.7 104.8 103.1 98.8 102.2
21 100.9 101.3  100.4 99.8 102.3 101.9 100.9 99.5 106.7 101.1 99.3  101.0
22 100.0  100.0  100.0  100.0  100.0  100.0 100.0 ~ 100.0 ~ 100.0  100.0  100.0  100.0
23 99.7 100.3 97.8 103.4 98.2 99.6 99.6 101.4 99.0 96.0 104.4 99.7

i
Rk 23 1 99.7  100.5 98.9 100.4 98.9 94.7 99.5 100.5 98.5 98.1 104.6 99.5
2 99.6 100.4 98.9 100.3 97.8 95.0 99.4 100.6 98.5 97.4  104.6 99.4
3 99.6  100.1 98.8 101.6 98.1 96.7 99.0 101.7 98.5 96.2  104.3 99.5
4 100.2  101.6 98.1 102.1 100.4 100.3 99.1 102.3 99.2 96.0 104.0 100.1
5 99.7  100.2 98.1 102.6 97.6 99.4 99.9 102.1 99.2 95.8  104.0 99.8
5 6 99.6  100.0 97.8 103.0 99.4 99.5 100.1  101.0 99.2 96.4 104.1 99.7
# 7 99.7  100.0 97.5 103.8 99.7 99.1 99.5 101.8 99.2 96.6  104.1 99.8
8 99.8 100.5 97.4  104.4 96.8 96.9 99.1 102.1 99.2 97.4  104.0 99.8
9 100.0  101.1 97.2  105.0 96.3 104.5 99.8  101.6 99.2 95.4  104.5 100.0
10 99.9 101.0 97.2 105.6 97.5 102.9 99.6  101.3 99.2 95.1  104.7 99.7
11 99.2 98.8 97.2 105.8 97.1 103.3 99.5 101.2 99.2 93.8  104.9 99.5
12 99.5 99.7 97.2 105.8 98.6 103.6 100.2 101.2 99.2 93.9 104.6 99.5
TRk 20 R 1.1 2.6 -0.7 6.0 4.2 0.9 -0.8 1.9 1.4 0.1 -0.2 1.1
% 21 -1.1 -0.2 0.4 -3.8 0.9 -1.9 -0.7 -5.0 1.8 -1.9 0.5 -1.2
22 -0.9 -1.3 -0.4 0.2 =2.2 -1.8 -0.9 0.6 -6.3 -1.1 0.7 -1.0
Al 23 -0.3 0.3 —2.2 3.4 -1.8 -0.4 -0.4 1.4 -1.0 4.0 4.4 -0.3
& R 23 1 0.0 0.4 0.1 -0.1 -0.4 4.3 0.3 0.6 0.0 -0.1 0.0 -0.3
2 -0.1 -0.1 0.0 -0.1 -1.1 0.3 0.0 0.1 0.0 -0.7 0.0 -0.1
A 3 0.1 -0.3 -0.1 1.4 0.4 1.7 -0.5 1.1 0.0 -1.3 -0.2 0.1
4 0.5 1.6 -0.8 0.4 2.3 3.7 0.1 0.7 0.7 -0.2 -0.3 0.6
= 5 -0.5 -1.4 0.0 0.5 2.7 -0.9 0.8 -0.3 0.0 -0.2 0.0 -0.3
- 6 -0.1 -0.2 -0.3 0.4 1.9 0.1 0.2 -1.1 0.0 0.6 0.0 -0.1
7* 7 0.1 0.0 -0.2 0.7 0.3 -0.4 -0.7 0.8 0.0 0.3 0.0 0.1
B 8 0.1 0.6 -0.2 0.6 -2.9 =2.2 -0.4 0.3 0.0 0.8 -0.1 0.0
9 0.2 0.6 -0.2 0.6 -0.5 7.8 0.7 -0.5 0.0 -2.0 0.5 0.1
% 10 -0.1 0.0 0.0 0.5 1.3 -1.6 -0.2 -0.4 0.0 -0.3 0.2 -0.3
11 -0.7 —2.2 0.0 0.2 -0.4 0.4 -0.1 -0.1 0.0 -1.4 0.2 -0.2
12 0.3 0.9 0.0 0.0 1.5 0.3 0.7 0.0 0.0 0.1 -0.3 0.1
X PRk 23 41 -0.4 1.0 -1.7 2.6 —2.2 5.4 -0.8 0.3 -5.8 —2.2 6.1 -0.6
Al 2 -0.5 0.4 -1.6 1.7 -3.1 -3.2 -0.4 0.4 -5.8 —2.5 6.5 -0.6
i 3 -0.5 -0.3 -1.7 2.8 -3.8 -1.9 -1.0 1.5 -5.8 -2.8 6.2 -0.6
_ 4 0.0 1.5 -2.6 2.9 -0.4 -2.6 -1.1 2.2 0.7 4.9 6.1 -0.2
7 5 -0.6 0.0 -2.6 2.9 -2.6 -3.1 -0.5 1.0 0.7 4.5 5.5 -0.6
H 6 -0.5 0.2 2.4 2.7 -1.4 2.4 -0.4 0.5 0.7 4.6 5.6 -0.5
T+ 7 0.2 1.0 2.4 3.1 1.5 0.6 -0.7 2.1 0.7 -3.3 5.4 0.2
- 8 0.0 1.2 =2.5 3.3 —2.5 2.1 -0.8 1.9 0.7 3.4 5.3 0.0
7t 9 -0.1 0.6 -2.8 3.7 4.2 3.1 -0.3 2.1 0.7 4.6 6.2 0.1
= 10 -0.3 0.1 -2.0 4.4 -1.7 4.0 -0.2 2.1 0.7 4.9 0.1 -0.3
11 -0.6 -1.4 -2.0 5.2 -0.6 4.3 -0.1 2.0 0.7 -5.8 0.2 -0.3
% 12 -0.1 -0.4 -1.6 5.3 -0.6 4.6 1.0 1.3 0.7 4.4 0.0 -0.3
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CORE SN = ti=F - NG T B

SRR 2 24E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel w | & | & | % | % | a6
v Ak 10,000 2,474 2,256 685 325 356 415 1,466 367 1,112 543 9,617
SRR 19 4 100.6 98.8  100.8 89.3  110.7 99.8 102.9 102.5 111.5 103.8 98.5 100.6
20 102.1  101.5 101.0 96.6  108.2 99.9 102.3 104.9 113.1 103.6 98.8 102.3
21 101.0  100.5 100.9 100.0  104.6 97.4 101.2 99.4 115.3 101.2 98.8 101.3
22 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
23 99.4 98.1 98.9 105.6 96.9  100.0 99.5 101.2 98.1 96.0 104.3 99.5

8
Rk 23 1 99.5 98.5 99.1 102.8 97.7 96.9 99.4 100.3 98.9 98.1 104.6 99.3
2 99.5 98.9 99.1 102.7 100.0 96.6 99.5 100.5 98.9 97.4  104.5 99.5
3 99.8 99.0 99.2  103.1 99.0  100.2 99.3  101.7 98.9 96.1  104.9 99.7
4 99.7 98.6 99.2  104.1 99.3  100.9 99.2 102.6 97.8 95.9 104.1 99.9
5 99.4 97.5 99.2  104.5 97.9 100.5 100.2 102.1 97.8 95.7 104.6 99.7
5 6 99.5 97.9 99.5 104.9 97.5 100.3 100.4 100.9 97.8 96.5 104.5 99.7
H 7 99.4 97.2 99.2 105.6 97.6  100.1 98.9 101.7 97.8 96.7  104.5 99.5
8 99.6 98.1 98.7 106.4 97.2 98.2 98.8 102.1 97.8 97.5 104.2 99.5
9 99.3 98.2 98.7 106.9 94.2 101.8 99.9 101.0 97.8 95.5 104.0 99.3
10 99.3 98.6 98.6 107.4 94.3 101.9 98.8  100.5 97.8 95.2 104.0 99.2
11 99.0 97.5 98.5 109.4 93.8 101.4 99.7  100.6 97.8 93.9 104.1 99.1
12 99.0 97.7 98.3  109.7 94.5 101.0 99.5 100.5 97.8 93.9 104.1 99.1
SRR 20 Y 1.5 2.7 0.2 8.2 2.3 0.1 -0.7 2.4 1.5 -0.2 0.3 1.7
% 21 -1.1 -0.9 -0.1 3.5 -3.3 -2.4 -1.0 5.2 1.9 2.3 0.0 -1.0
22 -1.0 -0.5 -0.9 0.0 —4.4 2.6 -1.2 0.6 -13.3 -1.2 1.3 -1.3
Al 23 -0.6 -1.9 -1.1 5.6 -3.1 0.0 -0.5 1.2 -1.9 -4.0 4.3 -0.5
& Rk 23 1 -0.3 -0.3 -0.3 0.1 2.2 -4.7 -0.2 0.5 0.0 -0.1 0.0 -0.6
2 0.1 0.3 0.0 -0.1 2.3 -0.3 0.1 0.2 0.0 -0.7 -0.2 0.1
A 3 0.2 0.2 0.1 0.4 -1.0 3.7 -0.2 1.2 0.0 -1.3 0.4 0.2
4 0.0 -0.5 -0.1 1.0 0.4 0.7 -0.1 0.8 -1.1 -0.3 -0.8 0.2
= 5 -0.3 -1.1 0.0 0.4 -1.5 -0.3 1.0 -0.4 0.0 -0.2 0.4 -0.2
- 6 0.1 0.4 0.3 0.4 -0.3 -0.2 0.2 -1.3 0.0 0.9 -0.1 0.0
7+ 7 -0.1 -0.7 -0.3 0.7 0.1 -0.2 -1.5 0.8 0.0 0.3 -0.1 -0.2
4y 8 0.2 0.9 -0.5 0.7 -0.5 -1.9 -0.1 0.4 0.0 0.8 -0.3 -0.1
9 -0.3 0.1 0.0 0.5 -3.1 3.7 1.1 -1.1 0.0 2.0 -0.1 -0.2
% 10 0.0 0.4 -0.1 0.5 0.2 0.1 -1.0 -0.4 0.0 -0.3 0.0 -0.1
11 -0.3 -1.1 -0.1 1.9 -0.5 -0.5 0.8 0.0 0.0 -1.4 0.1 -0.1
12 0.0 0.2 -0.2 0.2 0.7 -0.4 -0.2 0.0 0.0 0.0 0.0 0.0
X Rk 23 41 -0.6 -1.4 -1.2 4.2 -3.4 2.6 -1.5 0.5 4.2 2.2 6.1 -0.8
i 2 -0.6 -1.6 -1.2 3.7 -2.7 -2.4 -0.4 0.5 4.2 2.5 6.4 -0.7
i 3 -0.2 -0.6 -1.3 4.0 -2.9 -0.1 -0.7 1.5 4.2 -2.8 6.7 -0.3
_ 4 -0.4 -1.4 -1.4 5.2 -1.7 -1.3 -0.7 2.3 -1.1 -5.1 6.3 -0.3
7] 5 -0.8 -2.9 -0.7 5.1 -3.0 -1.5 0.2 1.1 -1.1 -4.7 6.1 -0.4
H 6 -0.7 2.5 -0.7 5.6 2.1 -1.0 0.0 0.3 -1.1 -4.5 5.9 -0.6
T+ 7 -0.2 2.3 -0.7 5.9 -0.5 1.5 -1.4 1.8 -1.1 -3.2 5.8 -0.3
- 8 -0.2 -1.9 -1.1 6.3 -0.3 1.1 -1.0 1.8 -1.1 -3.3 5.7 -0.3
7 9 -0.5 -2.7 -1.0 6.6 -3.3 4.5 -0.2 1.4 -1.1 4.6 5.5 -0.2
R 10 -0.7 -1.5 -1.1 7.2 -4.9 2.0 -0.7 1.2 -1.1 -4.9 -0.3 -0.7
11 -1.1 -2.4 -1.2 6.7 6.5 0.6 0.0 1.3 -1.1 =5.7 -0.5 -0.9
% 12 -0.8 -1.1 -1.2 6.9 -5.5 -0.6 -0.1 0.7 -1.1 —4.4 -0.5 -0.8
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H3k RoypEEEL (RF)

SRR 2 24E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel w | & | & | % | % | a6
v Ak 10,000 2,474 2,256 685 325 356 415 1,466 367 1,112 543 9,617
SRR 19 4 100.5 98.5 101.2 96.8  109.7 97.1 102.7 103.0 101.9 103.3 96.3  100.5
20 101.8 100.8 101.2 102.0  107.0 99.1 102.2 105.1 103.4 103.5 97.2  102.0
21 100.6  100.7 100.5 100.3  104.2 97.1 101.3 99.9 105.3 101.2 98.6  100.8
22 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
23 99.5 99.0 98.5 103.4 98.7 100.9 99.0 101.3 98.2 96.0 104.3 99.5

8
Rk 23 1 99.7  100.2 99.0  100.4 97.9 96.6 99.4 100.5 99.0 98.1 104.3 99.4
2 99.8  100.2 99.2  100.9 99.6 98.0 99.2  100.4 99.0 97.4  104.5 99.4
3 99.8 99.8 99.2  101.4 98.8 99.6 98.7 101.9 99.0 96.1 104.5 99.7
4 99.5 98.7 98.2 102.1 99.1 102.1 99.0 102.5 98.0 96.0 104.2 99.7
5 99.5 98.9 98.2 102.8 99.6 99.8 99.3 102.3 98.0 95.8 104.2 99.6
5 6 99.2 98.0 98.2  103.3 99.1 99.8 99.5 101.1 98.0 96.5 104.1 99.4
H 7 99.6 98.7 98.4 104.0 98.2 101.4 98.7 101.8 98.0 96.7 104.2 99.5
8 99.9 99.6 98.2  104.7 97.6  100.0 98.7 102.4 98.0 97.4 103.8 99.7
9 99.5 98.3 98.6  105.3 98.4 103.5 99.2  101.1 98.0 95.5 104.3 99.7
10 99.5 99.0 98.3 105.3 99.4 102.8 98.8  100.6 98.0 95.2 104.2 99.5
11 99.1 97.9 98.4 105.4 98.4 104.0 99.0  100.6 98.0 93.8 104.2 99.3
12 99.2 98.4 98.4 105.4 98.2 103.1 98.7  100.6 98.0 93.9 104.5 99.4
SRR 20 Y 1.3 2.4 0.0 5.4 2.5 2.1 -0.5 2.1 1.5 0.2 0.9 1.5
% 21 -1.2 -0.2 -0.7 -1.7 2.6 2.1 -0.9 -5.0 1.8 2.2 1.4 -1.3
22 -0.6 -0.7 -0.5 -0.3 -4.0 3.0 -1.2 0.1 -5.0 -1.2 1.4 -0.8
Al 23 -0.5 -1.0 -1.5 3.4 -1.3 0.9 -1.0 1.3 -1.8 -4.0 4.3 -0.5
& Rk 23 1 0.0 0.4 0.0 0.1 -0.4 —4.1 0.3 0.6 0.0 -0.2 -0.1 -0.2
2 0.1 0.0 0.2 0.5 1.8 1.4 -0.1 -0.1 0.0 -0.7 0.2 -0.1
A 3 0.0 -0.4 0.0 0.5 -0.8 1.6 -0.6 1.5 0.0 -1.3 0.1 0.3
4 -0.3 -1.0 -0.9 0.7 0.3 2.6 0.3 0.6 -1.0 -0.1 -0.3 0.0
= 5 0.0 0.2 0.0 0.7 0.5 2.3 0.3 -0.2 0.0 -0.2 0.0 -0.1
- 6 -0.3 -0.9 0.0 0.5 -0.5 0.1 0.3 -1.2 0.0 0.6 0.0 -0.2
7+ 7 0.4 0.7 0.2 0.7 -0.9 1.6 -0.9 0.7 0.0 0.2 0.0 0.1
4y 8 0.3 0.9 -0.1 0.6 -0.6 -1.4 0.0 0.6 0.0 0.8 -0.4 0.2
9 -0.4 -1.3 0.4 0.6 0.8 3.5 0.5 -1.2 0.0 2.0 0.5 0.0
% 10 0.0 0.7 -0.3 0.0 1.0 -0.7 -0.4 -0.6 0.0 -0.3 -0.1 -0.1
11 -0.4 -1.1 0.1 0.0 -1.1 1.2 0.2 0.1 0.0 -1.4 0.0 -0.2
12 0.1 0.5 -0.1 0.1 -0.1 -0.8 -0.4 0.0 0.0 0.0 0.3 0.0
X Rk 23 41 -0.4 0.8 -1.8 1.4 -3.7 -1.6 -1.3 0.4 —4.1 2.2 5.4 -0.9
i 2 -0.3 0.3 -1.6 1.4 -0.9 -1.0 -0.9 0.3 —4.1 2.5 6.0 -0.8
i 3 -0.3 -0.1 -1.6 1.5 -1.9 1.0 -1.4 1.5 4.1 -2.8 6.0 -0.5
_ 4 -0.8 -1.8 2.2 2.9 -1.8 -0.7 -1.4 2.3 -1.0 -4.9 5.7 -0.5
7] 5 -0.9 -1.3 2.3 3.1 -1.6 -2.6 -1.3 1.1 -1.0 -4.5 5.9 -0.8
H 6 -0.9 -1.6 2.2 3.3 -1.7 -1.0 -0.3 0.6 -1.0 -4.5 5.8 -0.8
T+ 7 -0.1 -1.0 -1.5 3.7 -1.8 3.3 -1.2 2.3 -1.0 -3.2 5.8 -0.3
- 8 0.1 -0.2 -1.5 4.3 2.2 3.3 -0.8 2.1 -1.0 -3.3 5.8 -0.1
7 9 -0.2 -1.8 -0.8 4.7 -0.8 3.2 -0.6 1.7 -1.0 4.6 5.8 0.0
R 10 -0.7 -1.8 -1.1 4.5 1.3 2.0 -1.4 1.4 -1.0 -4.9 -0.2 -0.5
11 -0.8 -2.4 -0.6 5.0 -0.3 2.6 -0.8 1.4 -1.0 -5.8 -0.3 -0.4
% 12 -0.5 -1.5 -0.6 5.1 0.0 2.4 -0.4 0.7 -1.0 —4.4 0.1 -0.3
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HI3R RFEES (<)

R 2 24E=100
7 S - E——E
5 A B E | R (55 |AR| & | & | & | & | # |

Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
e e | e | ow Jw Iwel w | & | u | % | # |66
v Ak 10,000 2,468 2,245 653 345 413 437 1,369 308 1,213 549 9,598
PRk 19 ) 101.3 99.4 103.8 92.0 108.0 105.2 103.4 102.8 108.6 103.8 99.8 101.2
20 102.5 101.8 103.6 95.5 106.9 107.5 102.3 105.0 109.9 104.4 99.2  102.4
21 100.9  100.8  102.8 98.4 105.3 102.3 100.7 99.8 111.2  101.5 98.5 101.1
22 100.0  100.0  100.0  100.0  100.0  100.0 100.0 ~ 100.0 ~ 100.0  100.0  100.0  100.0
23 99.2 99.0 97.5 103.1 99.1 102.0 99.7 101.1 97.5 95.7 104.4 99.2

i
Rk 23 1 99.3 99.6 97.9 100.3 103.0 95.7 99.5 100.4 98.0 97.3 104.0 99.1
2 99.3 100.4 97.9 100.4 101.2 96.0 99.4  100.3 98.0 96.5 104.3 99.0
3 99.3 99.8 97.8 100.9 100.6 99.0 98.9 101.6 98.0 95.5 104.6 99.2
4 99.4 99.2 97.7 101.6  100.7 102.1 99.7  102.1 97.3 95.4  104.4 99.4
5 99.0 97.7 97.8 102.2 98.7 101.2 100.6  102.1 97.3 95.2  104.3 99.2
5 6 98.9 98.0 97.4 102.8 98.1 102.9 100.7 100.7 97.3 96.1 104.4 99.2
# 7 99.2 98.5 97.3 103.7 99.7 101.1 99.9 101.5 97.3 96.8  104.4 99.4
8 99.5 99.1 97.3 104.4 97.3 100.6 99.6  102.0 97.3 98.2 104.6 99.6
9 99.5 99.3 97.3 105.0 97.3 106.2 99.6  100.9 97.3 96.2  104.4 99.4
10 99.5 99.8 97.3 105.2 98.3 107.3 99.5 100.4 97.3 95.2  104.2 99.2
11 98.7 98.2 97.3 105.5 96.8 105.7 99.5 100.3 97.3 93.0 104.3 98.9
12 98.8 98.3 97.4 105.8 97.4 105.9 99.2  100.5 97.3 93.1 104.4 99.0
TRk 20 R 1.2 2.4 -0.2 3.9 -1.0 2.2 -1.1 2.1 1.2 0.5 -0.6 1.2
% 21 -1.5 -1.0 -0.8 3.0 -1.5 4.8 -1.6 4.9 1.2 2.7 -0.7 -1.3
22 -0.9 -0.8 2.7 1.6 -5.0 -2.3 -0.7 0.2 -10.1 -1.5 1.5 -1.1
Al 23 -0.8 -1.0 —2.5 3.1 -0.9 2.0 -0.3 1.1 —2.5 4.3 4.4 -0.8
& R 23 1 -0.3 0.2 -0.9 0.1 1.6 -5.3 0.3 0.6 0.0 -0.5 0.1 -0.4
2 0.0 0.8 -0.1 0.1 -1.7 0.3 -0.1 -0.2 0.0 -0.8 0.3 -0.1
A 3 0.0 -0.6 -0.1 0.5 -0.6 3.1 -0.5 1.4 0.0 -1.0 0.3 0.2
4 0.1 -0.6 -0.1 0.7 0.1 3.1 0.8 0.5 -0.7 -0.1 -0.2 0.2
= 5 -0.4 -1.5 0.0 0.6 -2.0 -0.8 0.9 0.0 0.0 -0.2 -0.1 -0.2
- 6 0.0 0.2 -0.4 0.6 -0.6 1.6 0.1 -1.3 0.0 0.9 0.2 -0.1
7* 7 0.3 0.5 -0.1 0.8 1.7 -1.8 -0.8 0.7 0.0 0.8 0.0 0.3
B 8 0.3 0.6 -0.1 0.7 2.4 -0.5 -0.3 0.6 0.0 1.5 0.3 0.2
9 -0.1 0.3 0.0 0.5 0.0 5.6 0.0 -1.1 0.0 -2.0 -0.3 -0.2
% 10 0.0 0.5 0.0 0.2 1.0 1.1 -0.1 -0.5 0.0 -1.0 -0.1 -0.2
11 -0.8 -1.6 0.0 0.3 -1.5 -1.6 0.0 -0.1 0.0 2.4 0.1 -0.4
12 0.1 0.1 0.1 0.3 0.6 0.2 -0.3 0.2 0.0 0.2 0.1 0.1
X PRk 23 41 -0.5 0.2 -2.1 1.7 3.0 -0.6 -1.2 0.3 =7.5 -2.8 5.6 -0.9
Al 2 -0.5 0.7 -1.8 1.2 0.8 -1.7 -0.6 0.1 =7.5 -3.3 6.3 -0.9
i 3 -0.9 -0.7 =2.7 1.4 -1.8 1.5 -1.2 1.4 =7.5 -3.2 5.8 -1.0
_ 4 -1.1 -1.1 -2.8 2.5 4.0 -0.6 -0.9 2.0 -0.7 =5.7 5.3 -1.1
7 5 -1.7 -2.9 -3.3 2.2 -2.3 -0.8 0.1 1.0 -0.7 -5.6 5.9 -1.3
H 6 -1.1 -1.7 -2.6 2.9 -1.0 1.5 0.2 0.4 -0.7 4.9 5.5 -0.9
T+ 7 -0.3 -0.9 =2.7 3.4 1.4 2.5 -0.3 1.9 -0.7 -3.2 5.8 -0.3
- 8 -0.2 -0.1 =2.7 3.6 -1.3 2.5 -0.1 1.7 -0.7 -3.2 5.7 -0.3
7t 9 -0.5 -1.2 -2.6 3.9 -0.2 3.7 -0.3 1.3 -0.7 4.0 6.2 -0.4
= 10 -0.8 -1.0 =2.5 4.3 -0.8 6.6 -0.1 0.9 -0.7 4.7 0.0 -0.8
11 -1.2 -1.9 2.4 5.0 -0.4 4.1 0.1 1.1 -0.7 -6.1 0.2 -0.9
% 12 -0.7 -1.2 -1.4 5.6 -3.9 4.8 0.0 0.7 -0.7 4.7 0.4 -0.5
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SRR 2 24E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel w | & | & | % | % | a6
v Ak 10,000 2,474 2,256 685 325 356 415 1,466 367 1,112 543 9,617
SRR 19 4 100.6 97.1 102.4 94.5 105.5 99.3 102.0 102.0 111.5 103.7 98.4 100.9
20 102.0  100.0 101.5 103.4 102.1 100.7 101.5 104.3 113.2 103.5 98.3 102.4
21 100.7 99.6 101.0 99.9 100.2 102.3 100.6 99.0 115.3 101.1 98.1 101.2
22 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
23 99.4 99.1 98.6 103.1 98.5 98.2 99.5 101.1 98.1 96.1 104.0 99.5

8
Rk 23 1 99.6 99.6 99.3  100.1 99.8 95.9 100.0 100.3 98.9 98.1 104.6 99.5
2 99.5 99.7 99.3 100.4 100.2 94.0 100.0  100.2 98.9 97.3  104.4 99.3
3 99.4 99.5 98.6  100.8 99.2 97.2 99.4 101.6 98.9 96.2 104.0 99.5
4 99.6 99.3 98.5 101.7 99.4 97.8 99.5 102.5 97.8 96.1 103.9 99.7
5 99.2 98.3 98.6 102.3 98.8 97.4 99.8  102.0 97.8 95.9 103.9 99.5
5 6 99.2 98.3 98.6 102.9 98.1 97.8 99.9 101.0 97.8 96.5 103.8 99.5
H 7 99.3 98.7 98.5 103.5 98.5 97.1 98.6 101.5 97.8 96.8 104.0 99.5
8 99.8 99.2 99.0 104.3 98.3 96.2 99.0 102.0 97.8 97.5 103.9 99.9
9 99.6 99.4 98.6 104.8 98.7 100.8 99.7 100.8 97.8 95.6  104.0 99.7
10 99.6  100.1 98.2  105.3 97.2 101.3 99.3  100.5 97.8 95.3 103.8 99.5
11 99.0 98.4 98.1 105.6 96.6 101.3 99.6  100.6 97.8 94.0  103.9 99.3
12 99.0 98.9 97.5 105.7 97.0 101.8 99.4  100.7 97.8 94.0 104.0 99.3
SRR 20 Y 1.5 3.0 -0.9 9.4 -3.2 1.4 -0.5 2.3 1.5 -0.2 -0.1 1.5
% 21 -1.3 -0.4 -0.5 -3.3 -1.9 1.6 -0.9 -5.0 1.9 2.3 -0.3 -1.2
22 -0.7 0.4 -1.0 0.1 -0.2 2.3 -0.6 1.0 -13.3 -1.1 2.0 -1.2
Al 23 -0.6 -0.9 -1.4 3.1 -1.5 -1.8 -0.5 1.1 -1.9 -3.9 4.0 -0.5
& Rk 23 1 -0.1 0.1 -0.1 -0.1 -0.9 -3.7 0.7 0.4 0.0 -0.2 0.3 -0.3
2 -0.1 0.1 0.0 0.3 0.4 2.0 -0.1 -0.1 0.0 -0.8 -0.2 -0.2
A 3 -0.1 -0.2 -0.7 0.5 -1.0 3.5 -0.6 1.4 0.0 -1.2 -0.3 0.1
4 0.1 -0.1 0.0 0.8 0.2 0.6 0.1 0.9 -1.1 -0.1 -0.1 0.2
= 5 -0.3 -1.0 0.0 0.6 -0.6 -0.4 0.3 -0.5 0.0 -0.2 0.0 -0.2
- 6 -0.1 -0.1 0.0 0.6 -0.7 0.5 0.1 -1.0 0.0 0.6 -0.1 0.0
7+ 7 0.2 0.4 -0.1 0.6 0.4 -0.7 -1.3 0.6 0.0 0.3 0.2 0.0
4y 8 0.4 0.6 0.6 0.7 -0.2 -0.9 0.3 0.4 0.0 0.8 -0.2 0.4
9 -0.2 0.2 -0.4 0.5 0.4 4.7 0.7 -1.2 0.0 2.0 0.1 -0.1
% 10 0.0 0.7 -0.4 0.4 -1.5 0.6 -0.3 -0.2 0.0 -0.3 -0.2 -0.2
11 -0.6 -1.8 -0.1 0.3 -0.6 -0.1 0.3 0.0 0.0 -1.4 0.1 -0.3
12 0.1 0.5 -0.6 0.2 0.5 0.5 -0.2 0.2 0.0 0.0 0.1 0.0
X Rk 23 41 -0.5 -0.2 -1.7 1.7 2.1 -6.0 0.0 0.5 -4.3 2.1 5.9 -0.7
i 2 -0.8 -1.1 -1.4 1.2 4.4 -9.3 0.5 0.1 -4.3 2.5 6.2 -1.0
i 3 -0.8 -0.9 2.2 1.2 2.1 4.2 -0.1 1.6 -4.3 -2.7 5.5 -0.7
_ 4 -0.7 -0.9 -2.0 2.4 -1.6 -3.5 -0.5 2.3 -1.1 -4.7 5.1 -0.5
7] 5 -0.8 -1.3 -1.5 2.5 -1.7 -3.8 -0.2 1.0 -1.1 -4.3 5.4 -0.5
H 6 -0.8 -1.0 -1.4 3.0 -3.1 -3.2 -0.3 0.6 -1.1 —4.4 5.2 -0.6
T+ 7 -0.1 0.2 -1.5 3.3 -2.9 -0.6 -1.6 1.6 -1.1 -3.2 5.5 -0.3
- 8 -0.2 -1.2 -0.4 3.3 -3.1 -1.0 -1.3 1.7 -1.1 -3.2 5.4 0.0
7 9 -0.4 -1.6 -0.9 3.7 -1.8 2.4 -0.9 1.1 -1.1 4.6 6.3 -0.1
R 10 -0.4 -0.1 -1.2 4.3 -1.7 3.7 -0.8 1.2 -1.1 -4.9 -0.7 -0.4
11 -0.9 -1.8 -1.2 5.1 2.6 2.5 -0.4 1.3 -1.1 =5.7 -0.8 -0.5
% 12 -0.7 -0.6 -1.9 5.6 -3.7 2.3 0.0 0.8 -1.1 —4.4 -0.3 -0.5
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7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel w | & | & | % | % | a6
v Ak 10,000 2,474 2,256 685 325 356 415 1,466 367 1,112 543 9,617
SRR 19 4 100.8 97.1 100.3 98.5 108.1 101.5 102.5 104.1 104.2 104.4 99.3 101.4
20 102.6 99.9 101.0 105.5 104.5 104.1 101.8 106.6 106.4 104.0 99.4 103.1
21 100.5 99.3 101.4 98.8 102.8 102.5 100.6 99.6 108.9 101.4 99.6 101.2
22 100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
23 98.8 98.2 97.0 102.0 99.2 98.5 99.3 101.3 98.3 96.0 104.0 99.0

8
Rk 23 1 99.1 97.9 98.8 100.4 102.8 94.8 99.1 100.3 99.0 98.0 104.4 99.2
2 99.1 98.1 98.9 100.6 100.9 93.8 99.2 100.4 99.0 97.3  104.5 99.1
3 99.2 98.1 98.6 101.3  100.0 96.2 98.8  101.7 99.0 96.0 104.5 99.3
4 97.5 97.6 98.1 75.3  100.1 98.7 99.5 102.6 98.0 96.1 104.0 97.7
5 99.1 97.7 97.8 103.2 100.4 98.3 99.5 102.6 98.0 95.9 104.0 99.4
5 6 99.1 98.1 98.0 104.6 99.1 98.4 98.9 100.9 98.0 96.5 104.0 99.5
H 7 98.6 97.7 95.2  105.5 99.2 97.8 99.4 101.8 98.0 96.7 104.0 98.9
8 98.8 98.1 95.3 106.2 98.5 96.1 99.1 102.4 98.0 97.5 103.7 99.0
9 98.8 99.0 95.4 106.2 97.5 101.1 99.8 101.0 98.0 95.5 104.1 98.8
10 98.8 99.4 95.3 106.8 97.4 101.2 99.6  100.6 98.0 95.2 103.6 98.8
11 98.5 98.5 95.3  107.1 96.6 101.6 99.5  100.7 98.0 93.9 103.8 98.7
12 99.0 98.5 96.8 107.0 97.8 103.6 99.5 101.0 98.0 93.9 103.8 99.3
SRR 20 Y 1.8 2.9 0.7 7.1 -3.3 2.6 -0.7 2.4 2.1 -0.4 0.1 1.7
% 21 2.1 -0.6 0.4 6.4 -1.6 -1.5 -1.2 —6.6 2.4 2.5 0.2 -1.9
22 -0.5 0.7 -1.4 1.3 -2.8 -2.4 -0.6 0.4 -8.2 -1.4 0.4 -1.2
Al 23 -1.2 -1.8 -3.0 2.0 -0.8 -1.5 -0.7 1.3 -1.7 -4.0 4.0 -1.0
& Rk 23 1 -0.4 -0.8 -0.6 0.4 -0.8 -3.5 0.0 0.4 0.0 -0.2 -0.1 -0.4
2 0.0 0.3 0.1 0.2 -1.8 -1.0 0.1 0.1 0.0 -0.7 0.1 -0.1
A 3 0.1 0.0 -0.2 0.7 -0.9 2.5 -0.4 1.3 0.0 -1.3 0.0 0.2
4 -1.7 -0.5 -0.6 -25.7 0.1 2.6 0.6 0.8 -1.0 0.0 -0.5 -1.6
= 5 1.7 0.1 -0.3 37.1 0.3 -0.4 0.0 0.0 0.0 -0.2 0.0 1.8
- 6 0.0 0.3 0.3 1.4 -1.3 0.1 -0.6 -1.6 0.0 0.6 0.0 0.0
7+ 7 -0.5 -0.4 -2.9 0.8 0.1 -0.6 0.5 0.9 0.0 0.3 0.0 -0.6
4y 8 0.3 0.4 0.2 0.7 -0.7 -1.8 -0.3 0.7 0.0 0.8 -0.3 0.1
9 0.0 0.9 0.0 0.0 -1.0 5.3 0.7 -1.4 0.0 2.0 0.4 -0.2
% 10 0.0 0.4 0.0 0.6 0.0 0.0 -0.2 -0.4 0.0 -0.3 -0.5 -0.1
11 -0.4 -0.9 0.0 0.3 -0.9 0.4 0.0 0.1 0.0 -1.4 0.1 0.0
12 0.5 0.0 1.5 0.0 1.3 2.0 0.0 0.3 0.0 0.0 0.0 0.5
X Rk 23 41 -0.8 2.6 -0.3 2.1 3.6 4.2 -1.8 0.5 -3.9 2.2 4.1 -0.7
i 2 -0.8 -1.9 -0.4 1.6 -1.1 -7.3 -0.5 0.4 -3.9 2.5 5.7 -0.9
i 3 -1.1 -2.0 2.6 1.8 -1.3 4.2 -1.0 1.3 -3.9 -2.7 6.4 -1.1
_ 4 2.6 -1.7 -2.4  -24.1 -1.0 -3.8 -0.5 2.3 -1.0 -4.9 6.1 2.5
7] 5 -1.2 -2.8 2.5 3.3 0.1 -4.3 -1.0 1.6 -1.0 4.6 6.4 -0.8
H 6 -1.1 2.3 -2.0 4.5 -1.3 -3.0 -1.1 0.4 -1.0 -4.5 5.8 -0.8
T+ 7 -1.3 -2.0 5.4 5.0 0.2 -1.1 -0.6 2.0 -1.0 -3.2 6.0 -1.1
- 8 -1.2 -1.7 -5.0 5.1 0.0 2.7 -0.8 2.2 -1.0 -3.4 5.4 -1.0
7 9 -1.1 -1.2 -4.8 4.9 -0.3 2.2 -0.4 1.4 -1.0 -4.7 5.7 -0.9
R 10 -1.4 -1.5 4.2 5.9 -1.0 2.4 -0.4 1.4 -1.0 -5.0 -0.8 -1.2
11 -1.3 -1.4 —4.1 6.9 -1.9 2.8 -0.5 1.5 -1.0 =5.7 -0.8 -0.9
% 12 -0.6 -0.2 2.6 7.1 -5.6 5.4 0.4 1.1 -1.0 -4.3 -0.7 -0.4
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